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)_ : *C5 1 account that pays 3% annual width of a rectangle whose area is

(J ?\’ 200+ | interest. Find the balance after 5 given by x? + 5x — 24 and whose

years if the interest is compounded

(i 5"

guak’terly {%

A= 1300( 1+:2 )4

g;

Maq&%aj

length is given by x + 8.
R:(x1+6x~2u)
L W

(Xf@fx—g)

25. Let fix) = x*and g(x) = 3x + 2. Find
solutions of the equation f{x) = g(x) by
creating a table of integer values of x
for —2 < x < 3 and finding the
corresponding values of fand g. Be sure
to clearly indicate all values from the
table that are solutions of f{x) = g(x).
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26. Write a system of inequalities
to describe the graph.
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